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- <Superelevation staStart="0" staEnd="295.550450344305">
Wt reRriS S S B <FullSuperSta>0</FullSuperSta=
e = <FullSuperelev>=6</FullSuperelev=
HHSSATEERIRT | BN ERE ERFER(—20 | <RunoffSta=295.550450344305 </RuncffSta=
v BRI <AdverseSlE>non—adverse<fAdverseSE>
<fSuperelevation=
BBt | FuUDItE SEEERE | - <Superelevation staStart="450.550450344305" staEnd="482.93603298302">
=FullSuperSta>450.550450344305 </FullSuperSta>
= & q Hf ZE . L L§=
&= Ié%:__‘_- B :.:(%R EF:?E E?&?EE mmRek| T J(—ﬂjﬁ =7 (Jmf;“jg <FullSuperelev=-4</FullSuperelev:>
<RunoffSta=482.93603298302</RunoffSta=
- . . . . . . . =AdverseSE>non-adverse</AdverseSE>
1 1 0+00. 000000 300.000 295.550450 ] & oooo00 ~ - - </Superelevation>
2 14+16.560450 R—A—co | 75.000000 - - [0 75.000000 75.000000 - «<Superelevation staStart="625.43603298302" staEnd="649.916193252348">
3 18410660450 | co—b—R a0.000000 - - | ] 20.000000 =FullSupersta>625.43603298302</FullSuperSta:
2 4 22+10.550450 | -500.000 32.335583 [ 4.000000 - - <FullSuperelev>2</FullSuperelev:
B | 24+02.936033 R—d—oo | 0.000000 - - O so.o00000 80000000 <RunoffSta>649.916193252348</RunoffSta>
B | 26+02.936033 coA—R | 62.500000 . - 00 ez.500000  62.500000 J{S“Ad“‘?rse?E}“o"'“d"e"seq‘e‘d“'erSESE}
L uperelevatonz=
+0h. B . . . - - .
g ! 81405.436033  1,000.000  24.430160 [] 2.000000 ™ - «<Superelevation staStart="824.916193252348" staEnd="929.75094387478">
3 32+03.91619% R—h—co E2.500000 - - [0 s2.500000 B2.500000 <FullSuperSta>824.916193252348</FullSuperStax
3 | 35+12.416193 co—4—R | 112.500000 - - O 112.500000  112.500000 <FullSuperelev=-6</FullSuparelevs
4 10 41404, 916193 -200.000  104.234751 [ s_oooooo e - - <RunoffSta=929.75094387478 </RuncffSta>
11 4619760944 R—a—co | 112.500000 - - [ t112.500000 112.500000 <AdverseSE>non-adverse < /AdverseSE>
12 52402.250944 co—i—R 75.000000 - - [0 7s.o000000 7a.000000 </Superelevation>
[ 1% RE+17.250944 300.000 | 169.759872 [ &.000000 . - - - {Superelevation staStart="1117.25094387478" staEnd="1287.01081619573">
14 | B4HO7.010216| R—d—cc | 75.000000 - - [0 75.000000  75.000000 zEz::g:Ezilt:\f;ﬁl‘:fiﬁ;ﬁz:i‘l‘;“;9‘-"F”"S“PerSta}
+12. . - - . .
15 BE4+02.010816  co—d—R a0.000000 | ] 20.000000 <RunoffSta>1287.01081619573</RunoffStas
[ 18 TIH2. 010816 -320.000 243115842 [ s_nooooo e - - <AdverseSE>non-adverse < /AdverseSE>
17 | 84+05. 126658 R—d—oo | 80.000000 - - O e0.o00000  80.000000 </Superelevation>
- - - - - - - - - «<Superelevation staStart="1442.01081619573" staEnd="1685.12665823213">
7 18 S8+H05. 12BERE co 102.281958 [ 2.ooo000 N - - =<FullSuperSta>1442.01081619573 </FullSuperSta>
- - - - - - - - <FullSuperelev=-6</FullSuperelev>

<RunoffSta=1685.12665823213 < /RunoffSta=
<StartofRunoutSta=1745.12665823213 < /StartofRunoutSta=
<EndofRunoutSta=1765.12665823213 < /EndofRuncutSta=
<AdverseSEz>adverse</AdverseSE>

- <Feature name="ReverseCrown":>

<Property value="1725.12665823213" label="sta"/>
< /Feature>
</Superelevation>
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1/SingleLaneRoad FALSE CE2 &~
2|NormalCrown 2 R—E
CESYE A
5 H
9 SRS 9 . o 7%
HE Al 5 Eﬁ?ﬁ’jﬁﬂ%)ﬁﬁu R F v IRER ik
1 0+00. 000000 6.000000 | —6.000000 N CE 1A%
2 | 14+15.550450]  6.000000 | -6.000000 | F—¥
3 | 18+10.550450  1.161290 | —1.161290 | ~ C D> £
4 | 22+10.550450]  -4.000000 | 4.000000 | F—¥
5 | 24+02.936033]  -4.000000 | 4.000000 | C D r
6 | 28+02.936033| -0.631579 [ 0.631579 / C 3D R %
7 | 31+05.436033]  2.000000 | -2.000000 | ~ C D £
8 | 32¢00.916193]  2.000000 | -2.000000 | ~ CiD) £
9 | 35+12 416193] -0.857143 | 0.857143 | C D £
10 | 41+04.916193]  —6.000000 | 6.000000 | .~ CiD> £
11 | 46+09.750044]  —6.000000 | 6.000000 | .~ C D £
12 | 50+00.000000]  —1.504060 | 1.504060 | .~ R
13 | 52+02.250044]  1.200000 | —1.200000 | D F—H
14 | 55+17.250044]  6.000000 | -6.000000 | CiD £
15 | 64+07.010816]  6.000000 | -6.000000 | 5
16 | 68+02.010816]  0.193548 | -0.193548 | CD £
17 | 72+02.010816]  —6.000000 | 6.000000 | - CD 7%
18 | 84+05.126658]  —6.000000 | 6.000000 | C D £
19 | 88+05.126658]  —2.000000 | -2.000000 | CD 7%
20 | 93+07.408616]  —2.000000 | -2.000000 | .~ CiD £
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Br | Al& WS4 | HERSE | - | Br] S TEEE | AR | -
0+ 0.000000 BCo 1-0 -g.000 0+ o0.o00000 BCO1-0 -G.000n
14+ 1. BRO450 KEE 1-1 -E.000 14+ 15 550450 KE 1-1 -E.000
22+ 10550450 KE 2-1 4.000 22+ 10.550450 KEE 2-1 4.000
24+ 2938033 KE 2-2 4.000 24+ 2.936033 KE 2-2 4.000
a1+ B.436033 KE 3-1 -2.000 31+ B.436033 KE 3-1 -2.000
32+ A.316133 KE 3-2 -2.000 32+ 9.916133 KE 3-2 -2.000 |2
41+ 4.316193 KE 4-1 E.00n - 41+ 4.316133 EKE 4-1 G.00n |
46+ 9.750944 KEE 4-2 E.000 46+ 3.750944 EKE 4-2 E.000
R+ 17.250344 KEE 5-1 -g.000 hh+ 17.250344 EE BH-1 -g.000
B4+ 7.0108168 KE &-2 -g.000 B4+ T.0108318 EKEE h-2 -g.000
T2+ 2.010818 KE B-1 B.000 72+ 2.0108168 KE EB-1 B.000
84+ H_1266HB KE 6-2 B.000 84+ H.12660H8 KE B-2 G.000
86+ 5. 1ZEBBAHE 2.000 46+ B.126R5E 2.000
93+ 7Y.408616 EFP a.000 - 38+ 5H.126B53 K& B-2 2,000 -
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Br | Hl& TEE% | thERaE | - | Br| HlE FE L7 | B | -
14+ 16.560450 KE 1-1 -g.000 22+ 10.650450 KE 2-1 4,000
22+ 10.6550450 KE 2-1 4.000 24+  2.936033 KE 2-2 4,000
24+ 7.936033 EKE 2-2 4.000 i1+ b.436033 KE 3-1 -2.000
31+ 5.436033 EKE 3-1 -2.000 a2+ 3.316133 KE 3-2 -2.000
32+ 9.318133 EE 3-2 -2.000 41+ 4.316133 KE 4-1 E.000
41+ 4.316133 EKE 4-1 E.000 46+ 3.7h0344 KE 4-2 E.000
46+ 3.750344 EE 4-2 E.000 b+ 17.250344 KE 5-1 -B.000
Bh+ 17.200944 KE bB-1 -g.000 - B4+ T.010816 KE &-2 -g.000 =
G4+ Y.010816 KE &-2 -G.000 T2+ 2.0M10816 KE 6-1 G.000
T2+ 2.010818 KE B-1 B.000 44+ bH.12665% KE GR-2 B.000
34+ 5H.126653 EKE &-2 E.000 36+ hH.12GGHE 2.000
36+ hH.12EEHE 2.000 3%+ hH.I126BH3 K& B-2 -2.000
33+ 7.408818 EFP 2.000 33+ T.408B18 EP -2.000
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